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#Ravie\:\{

Oper ations  \With %mc)r‘\ov\%

10, 35 | 2
EX’X‘. CON\PU}VQ JL- — ,_Qi_ 5;55 5‘% LCD:
= A 35 Lo 70
L4
7N _ 6. _ T A2
T-40  35.1 Tg 70
~ 7—\14_;_’/_5_.-':5__:___./\‘
70 70 =5 A4
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On C@\Cm\a%r . (\ /’\O> ~<€> /3'5) ~ ANSWEWR
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A\lfz,mgz 9& ero ha‘rf\‘ﬂ%%
Ex2 . Avemg}, o AXDB = A+B

2
Com\g(ﬁye, Yl ave ¥ age 9% 1L ond -;%
(S AL AN L5
7- 4 7 -4 __,__2,% 2% :—i—é_ = ﬁ'i:—q—?—*
2 2 2 L
L

On caladator: (A /4 +207) =2 — 2nd, PR® — 45 (56

Sim‘:\i '}\/ Reote
Ex 3. Use the \Dm(lpe\()(\/ Ja-b =Va -{t szmp\i§\, N

—b Prime U, 926 2 ?7) 6\7) ii)---
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V= -4 xxb

X.

Lly=-tqa45 =4 — (3, 4)
2 \[:"‘L{'l—\-S --35 —% (2{’3>
3
4.

y=—U4.3+45 ==7 — (3 -7)
y=-H-4+5 == —» (4 1)

l

X——-\nsfexco,\ssc . sl V=20

- ap e "N T o -an @ o

Y:’L}x—vg = 0 =-Hx+g =>
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-

Ux=5 = [x= 5_\ or 1.25
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—
]
)
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{
|
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(

y_\nHszyt-;;&R'%==o

\I);-—AX_\fg =7 Y= - 4.0+C =g

Ex6 Tind  the injrechpffs @r, N = x“— % - 30 .

»L—-‘m*@‘ccep\'s .S v=0. AC=-20 B=-4 — 5 &k—6
Prod\ Sum
Z' 1
0= x —x-20 = 0=x+5)(x-6) T
—— \/‘E\/
N o — _ 6,0)
X‘f‘g =0 :> E\X = ":5] or X —6 =0 =7 \x = 6\ <9'0) (

¥ - 'lY\’\'éJVCZP":S . seU %x=0
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‘EX@"C“%QL" I% M= <—Ai )%7 is the \m'\o\PomjV . P line sagmem’\’ CD
and C=(4-%)  what are +he coordinafes ol point D7
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D=2
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2 L 2
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Ex3: Tirnd Yo distance between A=(432) amd B=(14,145),

- 7(1 \li xz. Y?—
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(1. = /\lti—-q}ﬂ(l?——?ﬂl ) = (\("531\'\-(\23 | = :5’2,5—\"\(‘1"\ =\ |69
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— °l Tird Yhe Aistanee between A= (2 - -3) amd B = <<3 0‘7‘

Xy No ‘o

- - 1

d:(\(% -2) ¢ (1= (- 3)) = 6 "+ ;Q%HL\H):&/\@.
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